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1. a<0;  V=V0=aT1; V0=V-aT1  (1) 

   
2

2

1
10

aT
TVS     (2) 

(1)→(2): ;
2

2

12

11

aT
aTVTS   

2

1

1

2

1
1

)(2

2 T

SVT
a

aT
VTS


 ; 

;
)(

2 2

1

2

21
2

2

2
2

T

TSVT
VT

aT
VTS


  

2,5
1064

)3616(24

)(

)(

2121

2

2

2

1 










TTTT

TTS
V  м/с 

 

 

2. 
22

2 






gh
V

g
Vh yy   

Время полёта: 



g

h

g

V
T

y 22
 

 

м

g

h
ll

g

lh

g

hl
TVL

l
VVl xxx

3464)
2510

3752
1(866

)
2

1(
22

;
22























 

 

 

3. ;sin mgFN   sinFmgN    (1)  

mgFNF  cos    (2) 

(1)→(2): 

mgFFmgF   sincos ;

;1sincos    
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3. ;sin mgFN   sinFmgN    (1) 

mgFNF  cos    (2) 

(1)→(2): mgFFmgF   sincos ; ;1sincos    

2

2
cos

2
sin2

2
sin2

sin

cos1
2










 tg


  

;
62

58.0
2





tg

3


   

 

 



4.  

   

   tt

tt

tt

tt

ttCttC

ttCttC



















2

32

1

13

2211

322131

3)(3
 

   
C

ttt

ttttt
t 0

213

21123 64
150

200029040

100103402

10010210100340

32

23













  

 

 

5.  

1) 









2
1

R
rI    (1) 

2

2

2 2

2
2

1

R

R
r

R
IQ














  (2) 

2)  RrI  2     (3) 

 
R

Rr
RIQ

2

2
2

2





  (4) 

Из (2), (4): R
Rr

R

R
r
















2

2

2

2

)(2

2


 

;2
2

Rr
R

r 







    ;

2

1
112 








 Rr  14110022  rR  Ом 

  


